There are 2 tigers
sitting in each tree.
There are 3 trees. @
How many tigers are
there?

X

Each tiger has 2 cubs. How
many tiger cubs are there
altogether?

There are 3 cactii. Each one has

10 prickly pears. How many
pears altogether?

X

5 bears eat all of the
pears. How many did
each bear eat?

X

There are 10 monkeys
eating fruit. They eat
40 bananas. How many
bananas does each
monkey eat?

The monkeys climb 2 trees.
How many monkegs are in
each tree?

Teacher’s notes

There are 6 trees.
There are 2 birds in
each tree. How
many birds are there
altogether?

X

Each bird has laid 2 eggs.
How many eggs are
there altogether?

N

Children look at the first part of each problem, and use multiplication or division to find the answer. Then for
some of the problems they use the information from the first part of the problem to help to find the answer to the
second part. They write both calculations in the spaces provided,
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